COMPREHENSIVE TEST - 3D CITY COMMUNITY SPACE - 2022.02. 24-28.

QUESTIONS - ANSWERS - SUMMARY

1. How wide should the escape / service road be?

Answer: The width of escape road depends on the number of users, the eventual transport access
depends on the transporting mean, thus is a design question.

2. How much can we use the neighbouring firewalls for support?

Answer: The neighbouring plots with the buildings are independent. So these cannot be used at all as
structures. An independent structure must be designed.

3. How much should design for all / accessibility applied? As the plot is very long in case of
vertical expansion an elevator might be needed, or is it satisfactory to provide accessibility
only for the main function; the open-air cinema?

Answer: Accessibility must be provided for all community functions. The spatial arrangement of the
community functions, so their access is a design question.

4. What is the size of sheet of the given ground floor plan1:200 and 1:100 sections?

Answer: The exact measurements are given on the given file “Szerdahelyi u
14_Adlapon_meretarany_1_1000"
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